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單元 4: 直線
({… §1.4)

ø. ò(íé0 (slope of a line)

ì2. q (x1, y1) D (x2, y2) ÑøÝ鉛垂(

(nonvertical line) L ,íóæùõ, † L íé0

(slope)

m
def
=

∆y

∆x
=

y2 − y1

x2 − x1

w2 ∆y ˚T y í‰“¾ (change in y), ∆x ˚T

x í‰“¾ (change in x), àÇý.

註. .ì2鉛垂( (vertical line) íé0, à x = 6,

x = −3 íé0Ì„ì2, ÄÑ鉛垂(í x 坐™Ñø固

ì值, x íZ‰¾ (change in x) ∆x 0Ñ 0, .適í

|ÛÊé0ì22í}母, àÇý.

�W( (parallel lines)

ùóæò( L1 D L2 互Ñ�WJ/唯J它bíé0ó°

Cé0Ì„ì2, pÑ L1 ‖ L2, àÇý.
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垂ò( (perpendicular lines)

qùóæÝ鉛垂( L1 D l2 íé0}�Ñ m1 D m2,

† L1 D L2 ó互垂òJ/唯J

m1 = −
1

m2
(C m1m2 = −1)

即é0互ÑŠ (顛) 倒b (negative reciprocal), 1

pÑ L1 ⊥ L2, àÇý.

註. 鉛垂( („ì2é0) D®�( (é0Ñ 0) 互Ñ垂

ò.

ù. ò(j˙�

�àíò(j˙�

1. 鉛垂(: x = a

2. ®�(: y = b
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3. õé� (point-slope form): ¬õ (x1, y1) /

é0Ñ m íò(j˙�Ñ

y − y1 = m(x− x1)

4. éi� (slope-intercept): é0Ñ m / y-i距

(y-intercept) Ñ b íò(j˙�Ñ

y = mx + b

註. y-i距4ò(D y-軸>õí y 坐™, à>õÑ

(0, b), † y-i距Ñ b. °Ü, Jò(D x-軸í>õ

Ñ (a,0), †˚ a Ñ x-i距 (x-intercept).

5. ø般� (general form): �Þ,íò(j˙�Ñ

Ax + By + C = 0

w2 A, B .rÑ 0.
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